Cost Concepts and Costing Methods		Cost and Management Accounting
ICAN		CAP II
COST:-Cost can be defined as the expenditure (actual or notional) incurred on or attributableto a given thing.

COSTING:-Costing may be defined as ‘the technique and process of ascertaining costs’.

COST ACCOUNTING: -Cost Accounting is defined as "the process of accounting for costwhich begins with the recording of income and expenditure or thebases on which they are calculated and ends with the preparation ofperiodical statements and reports for ascertaining and controllingcosts.

The main objectives of Cost Accounting are as follows: (i) Ascertainment of cost. (ii) Determination of selling price. (iii) Cost control and cost reduction. (iv)Ascertainment of profit of each activity. (v) Assisting management in decision making.

Important advantages of a Cost Accounting System may be listed as below:
· Cost Determination
· Helping in Cost Reduction
· Product Profitability Analysis
· Provide information relevant
· for Decision Making
· Determination of sellingPrice
· Cost Control and Variance
· Analysis
· Cost Comparison and
· Benchmarking

"COST ACCOUNTANCY:-Cost Accountancy is a broader term and is defined as, ‘the application ofcosting and cost accounting principles, methods and techniques to the science and art and practiceof cost control and the ascertainment of profitability as well as presentation of information for thepurpose of managerial decision making.’


CLASSIFICATION OF COSTS
1. Nature of Element
1.1 Material: Cost of Material used in production
1.2 Labour: Cost of Workers
1.3 OtherExpenses: Costs other than Material and Labour

2. Traceability to Object
2.1 Direct Costs: Which can be allocated directly to the product
2.2 Indirect Costs: Which cannot be directly allocated to the product

3. Functions
3.1 Production Costs Cost of whole process of Production
3.2 Selling Costs: Cost for creating demand of the product produced
3.3 Distribution Costs: Costs starting from packing of the product till reconditioning of empty products
3.4 Administrative Costs: Cost of formulating policy, controlling the organisation, costs not directly related to production
3.5 Development Costs: Development Costs for trial Run
3.6 Pre- Production Costs: Costs starting with implementation of decisions and ending with the commencement of the production process
3.7 Conversion Costs: Cost of transforming direct material into Finished Products
3.8 Product Costs: Costs necessary for production

4. Variability
4.1 Fixed Costs: Cost which remains constant in total
4.2 Variable Costs: Costs which changes with production
4.3 Semi- Variable Costs: Costs which are partly fixed and partly variable

5. Controllability
5.1 Controllable Costs: Costs which can be influenced by the action of a specific member of an undertaking
5.2 Uncontrollable Costs: Costs which cannot be influenced by the action of a specific member.

6. Normality
6.1 Normal Costs: Costs which are expected to be incurred in normal routine
6.2 Abnormal Costs: Costs which are over and above normal costs

7. Decision Making
7.1 Relevant Costs (Marginal Costs, Differential Costs, Opportunity Costs, Out of Pocket): Costs which are relevant and useful for decision making
7.2 Irrelevant Costs (Sunk costs, committed costs, Fixed costs): Costs which are not relevant or useful to decision making

8. Cash Outflow
8.1 Explicit Costs: Costs involving immediate payment of cash
8.2 Implicit Costs: Costs not involving immediate cash payment


Cost Centre: It is the smallest area of responsibility or segment of activity for which costs areaccumulated. It can be defined as a location; person or an item of equipment or a group ofthese for which costs are ascertained and used for the purpose of cost control. Cost centresare of two types viz.., personal and impersonal.
Personal cost centre: It is a cost centre which consists of a person or a group of persons.
Impersonal cost centre: It is a cost centre which consists of a location or an item of equipmentor a group of these.
In a manufacturing concern there are two types of cost centres viz., production and servicecost centres.
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Sunk Costs:These are historical costs which are incurred in the past. These costs wereincurred for a decision made in the past and cannot be changed by any decision that willbe made in future. In other words, these costs play no role in decision making, in thecurrent period. While considering the replacement of a plant, the depreciated book valueof the old plant is irrelevant, as the amount is a sunk cost which is to be written off at thetime of replacement.




Explicit and Implicit cost:
Explicit costs, which are also known as out of pocket costs, refer to costs involvingimmediate payment of cash. Salaries, wages, interest on loan etc. are examples ofexplicit costs. They can be easily measured.
The main points of difference between explicit and implicit costs are:
− Implicit costs do not involve immediate cash payment.
− They are not recorded in the books of account.
− They are also known as economic costs.

For example, an employee could take a vacation and travel. The explicit costs would include travel expenses, the cost of a hotel room, and costs related to entertainment. The implicit costs relate to the tradeoff, namely the wages that the employee could have earned if the vacation was not taken.

As another example, not payingrent on the self-owned property (called implicit rent) is an implicit cost
Interest paid on own capital not involving any cash outflow.
(ii) Period and Discretionary costs
There are the costs, which are not assigned to the products but are charged as expensesagainst the revenue of the period in which they are incurred. All non-manufacturing costssuch as general and administrative expenses, selling and distribution expenses areperiod costs.

Discretionary Cost:Such costs are not tied to a clear cause and effect relationship between inputs andoutputs. They arise from periodic decisions regarding the maximum outlay to beincurred. Examples are – advertising, public relations, training etc.

Conversion cost: It is the cost incurred to convert raw materials into finished goods. It is the sum of direct wages, direct expenses and manufacturing overheads

Cost Centre : It is the smallest area of responsibility or segment of activity for which costs are accumulated. It can be defined as a location; person or an item of equipment or a group of these for which costs are ascertained and used for the purpose of cost control. Cost centres are of two types viz.., personal and impersonal. Personal cost centre: It is a cost centre which consists of a person or a group of persons. Impersonal cost centre: It is a cost centre which consists of a location or an item of equipment or a group of these. In a manufacturing concern there are two types of cost centres viz., production and service cost centres.

Imputed Cost: These costs are notional costs which do not involve any cash outlay. Interest on capital, the payment for which is not actually made, is an example of Imputed Cost. These costs are similar to opportunity costs.

Cost Sheet
Cost Sheet is a statement of cost showing the total cost of production and profit or loss from aparticular product or service. A Cost Sheet shows the cost in a systematic manner and elementwise. A typical format of the Cost Sheet is given below:

Cost Sheet for the period.........................................
Production ............................... units
Particulars 							Amount (Rs.)		 Amount (Rs.)
A. Direct Materials 		Opening Stock
+ Purchases
+ Carriage inwards
- Closing Stock
B. Direct Wages
C. Direct Expenses
I. Prime Cost 		(A + B + C)
D. Factory Overheads- Indirect materials
Loose Tools
Indirect wages
Rent and Rates (Factory)
Lighting and heating ( F )
Power and fuel
Repairs and Maintenance
Drawing office expenses
Research and experiment
Depreciation – Plant ( F )
Insurance – ( F )
Work Manager’s salary
II. Factory Cost/Works Cost (I + D)
E. Office and Administrative Overheads
Rent and Rates – office
Salaries – office
Insurance of office building and equipments
Telephone and postage
Printing and Stationery
Depreciation of furniture and office equipments
Legal expenses
Audit fees
Bank Charges
III. Cost of Production (II + E)
F. Selling and Distribution Overheads
Showroom rent and rates
Salesmen’s salaries and commission
Traveling expenses
Printing and Stationery – Sales Department
Advertising
Bad debts
Postage
Debt collection expenses
Carriage outwards
Depreciation of delivery van
Debt collection expenses
Samples and free gifts
IV. Cost of Sales (III + F)
V. Profit/Loss
VI. Sales (IV + V)
Question No.1 A factory uses a job costing system. The following data are available from the books at the year ending
on 31st March 2007.
Particulars 						Amount [Rs]
Direct Materials 					1,800,000
Direct Wages						 1,500,000
Profit 							1,218,000
Selling and Distribution Overheads 			1,050,000
Administrative Overheads 				840,000
Factory Overheads 					900,000

Required:
A. Prepare a job cost sheet showing the prime cost, works cost, production cost, cost of sales and sales
value.
B. In the year 2007-08, the factory has received an order for a number of jobs. It is estimated that thedirect materials would be Rs.2,400,000 and direct labor would cost Rs.1,500,000. What would be theprice for these jobs if the factory intends to earn the same rate of profit on sales, assuming that theselling and distribution overheads have gone up by 15%. The factory recovers factory overhead as apercentage of direct wages and administrative and selling and distribution overhead as a percentageof works cost, based on the cost rates prevalent in the previous year.
(Ans: Selling Price- 4,284,000)

Question No. 2 R Limited showed a net loss of Rs. 35,400 as per their cost accounts for the year ended 31st March, 2012. However, the financial accounts disclosed a net profit of Rs.67,800 for the same period. The following information were revealed as a result of scrutiny of the figures of cost accounts and financial accounts:
(i) Administrative overhead under recovered 			25,500
(ii) Factory overhead over recovered 				1,35,000
(iii) Depreciation under charged in Cost Accounts 		26,000
(iv) Dividend received 						20,000
(v) Loss due to obsolescence charged in Financial Accounts 	16,800
(vi) Income tax provided 						43,600
(vii) Bank interest credited in Financial Accounts 		13,600
(viii) Value of opening stock:
In Cost Accounts 						1,65,000
In Financial Accounts 					1,45,000
(ix) Value of closing stock:
In Cost Accounts 						1,25,500
In Financial Accounts 					1,32,000
(x) Goodwill written-off in Financial Accounts 			25,000
(xi) Notional rent of own premises charged in Cost Accounts 	60,000
(xii) Provision for doubtful debts in Financial Accounts 		15,000
Prepare a reconciliation statement by taking costing net loss as base.
Question.No.3The following information have been extracted from the cost records of a manufacturing company:
Stores 
* Opening balance 			9,000
* Purchases 				48,000
* Transfer from WIP 			24,000
* Issue to work-in-progress 		48,000
* Issue for repairs 			6,000
* Deficiency found in stock 		1,800
Work-in-Progress:
* Opening balance 			18,000
* Direct Wages applied 		18,000
* Overhead charged 			72,000
* Closing balance 			12,000
Finished Production :
* Entire production is sold at a profit of 10% on cost from work-in-progress
* Wages paid. 				21,000
* Overhead incurred 			75,000
Draw the Stores Leger Control A/c, Work-in-Progress Control A/c, Overheads Control A/c and Costing Profit and Loss A/c.
Question No.4
The book of Adarsha Manufacturing Company presents the following data for the month of April 1992. Direct labour Cost Rs.17,500 being 175% of works overheads.
Cost of good sold excluding administrative expenses Rs.56,000.
Inventory accounts showed the following opening and closing balance:
April 1			April 30
Raw Material					8,000 			10,600
Works in progress  				10,500 			14,500
Finished goods 				17,600 			19,000
Other data are:
						Rs.
Selling expenses				 3,500
General and administrative expenses 		2,500
Sales for the month				75,000
You are required to 
i) Compute the value of materials purchased
ii) Prepare a cost statement showing the various elements of the cost and also the profit earned.
Question No. 5
A fire occurred in the factory premises on October 31, 2003. The accounting records were kept in another building. They reveal the following for the period September 1, 2003 to October 31, 2003.
i) Direct Materials Purchased 				Rs.250,000
ii) Work in process inventory, 1.9.2003 			Rs.40,000
iii) Direct Materials inventory, 1.9.2003 			Rs. 20,000
iv) Finished goods inventory, 1.9.2003 			Rs.37,500
v) Indirect manufacturing costs 				40% of conversion cost
vi) Sales revenues						Rs.750,000
vii) Direct manufacturing labour				Rs.222,250
viii) Prime Costs						Rs.397,750
ix) Gross margin percentage based on revenues 		30%
x) Cost of goods available for sale 				Rs.555,775
The loss is fully covered by insurance company. The insurance company wants to know the historical cost of the inventories as a basis for negotiating a settlement, although the settlement is actually to be based on replacement cost, not historical cost.
Required
1. Finished goods inventory 31.10.2003
2. Work-in-process inventory 31.10.2003
3. Direct materials inventory 31.10.2003
Question No.6
A Manufacturing Company has an installed capacity of 150,000 units per annum. Its cost structure is given below:
1. Variable cost per unit				
Materials 								10
Labour (subjected to a minimum of Rs. 100,000 per month)		10
Overhead								4
2. Fixed Overhead per annum						192,300
3. Semi  variable overheads per annum at 75% capacity (it will be increased by Rs.4,000 per annum for increase of every 5% of the capacity utilization or any part thereof)  Rs.60,000
The capacity utilization for the next year is budgeted at 75% for the first three months, 80% for the next six months and 90% for the remaining three months.
Required:
If the company is planning to have profit of 20% on the selling price, calculate the selling price per unit for the next year.
Question No.7
In an engineering company, the factory overheads are recovered on a fixed percentage basis on direct wages and the administrative overhead are absorbed on a fixed percentage basis on factory cost.
The company has furnished the following data relating to two jobs undertaken by it in a period:
	
	Job 101 (Rs.)
	Job 102 (Rs.)

	Direct Material
	54,000
	37,500

	Direct Wages
	42,000
	30,000

	Selling price
	166,000
	128250

	Profit percentage on total cost
	10%
	20%


Required:
1. Computation of percentage recovery rates of the factory overheads and administrative overheads.
2. Calculation of the amount of factory overhead, administrative overheads and profit for each of the two jobs.
3. Using the above recovery rates fix the selling price of the job 103. The additional data being:
Direct material				Rs.24,000
Direct Wages				Rs.20,000
Profit percentage on selling price	Rs.12 ½  %
Question No.8
A ltd Co. has capacity to produce 100,000 units of a product every month. It’s work cost at varying levels of production is as under:
Level				Work cost per unit Rs.
10% 					400
20% 					390
30% 					380
40% 					370
50% 					360
60% 					350
70% 					340
80% 					330
90% 					320
100% 					310
It’s fixed administration expenses amount to Rs.150,000 and fixed marketing expenses amounts to Rs.250,000 per month respectively. The variable distribution cost amounts to Rs. 30 per unit.
It can market 100% of it’s output at Rs.500 per unit provided it incurs the following further expenditure:
a. It gives gift item costing Rs.30 per unit of sale;
b. It has a lucky draw every month giving the first prize of Rs.50,000; 2nd prize of Rs.25,000 and 3rd prize of Rs.10,000 and three consolation prizes of Rs.5,000 each to customers buying the products.
c. It spends Rs. 100,000 on refreshment served every month to it’s customers;
d. It sponsors a television program every week at a cost of Rs.2,000,000 per month.
It can market 30% of it’s output at Rs.550 per unit without incurring any of the expenses referred to in a) to d) above.
Advise the company on it’s course of action. Show the supporting cost sheets.
Question No. 9 Following Information has been obtained from the cost records of Aditya Chemicals Ltd for 2006:
Finished goods 1-1-2006 	50,000 				Heat light and power 		20,000
Raw Material on 1-1-2006 	10,000 				Factory insurance and taxes	 5,000
Work in progress 1-1-2006	 14,000				 Repair to plant		 3,000
Direct Labour			160,000 			Factory supplies 		5,000
Purchase of Raw Material	 98,000 			Depreciation-factory Building 	6,000
Indirect Labour		40,000 				Depreciation – Plant		10,000
Other Information made available is-
Factory cost of goods produced in 2006 	Rs.280,000
Raw material consumed in 2006 		Rs.95,000
Cost of goods sold in 2006 			Rs.160,000
No office and administrative expenses were incurred during the year 2006. Prepare a statement of cost for the year ending 2006 giving maximum possible information and it’s breakup.
Question No.10 A company manufactures radio, which are sold at Rs. 1,600 per unit. The total cost is composed of 30% for direct materials, 40% of direct wages and 30% of overheads. An increase in material price by 30% and in wage rate by 10% is expected in the forth coming year, as a result of which the profit at the current selling price may decrease by 40% of the present profit per unit. You are required to prepare a statement showing current and future profit at present selling price.
How much selling price should be increased to maintain the present rate of profit?
Question No. 9 From the following information, prepare cost sheet:
Opening			 Closing
Raw materials 					29,500 				36,000
Work in progress				 13,600 			12,000
Wages						 11,000 			16,500
Work overheads 6600 9900
Finished goods: 				200 units @ Rs.84 	1600 units
Purchase of raw material Rs.190,000, carriage on purchases Rs. 1,500, sale of scrap of raw materials Rs. 5,000
Wages		 Rs.297,000
Work overhead are absorbed @ 60% of direct labour cost
Administration overheads are absorbed @ Rs.12 per unit produced.
Selling and distribution overhead are absorbed @ 20% of selling price.
Sales – 7,600 units at a profit of 10% on sales price.
(Ans. Sales Rs.912,000 per unit Rs.120)
Question No. 11 The X Ltd. submitted the following information on 31st March 20X1:
Sales for the year 					275,000
Inventories at the beginning of the year:
Finished goods 					7,000
Work in progress 					4,000
Purchases of materials for the year were 		110,000
Material Inventory:
At the beginning of the year 				3,000
At the end of the year 					4,000
Direct labour						65,000
Factory overhead was 60% of the direct labour cost
Inventories at the end of the year
Work in progress						6,000
Finished goods 						8,000
Other expenses for the year:
Selling expenses 10% of sales
Administrative expenses 5%of sales
Required: Prepare a statement of cost and profit and loss account
Question No. 12 A re-roller produced 400 metric tons of MS bars spending Rs.36,00,000 towards materials and Rs. 620,000 towards rolling charges. Ten percent of the output was found to be defective, which had to be sold at 10% less than the price for good production. If the sales realization should give the firm an overall profit of 12.5% on cost, find the selling price per metric ton of both the categories of bars. The scrap arising during the rolling process fetched a realization of Rs.60,000.
Question No. 13 XYZ Auto Ltd is in the business of selling cars. It also sells insurance and finance as part of its overall business strategy. The following information is available for the company.
Physical Units				Sales Value
Sales of cars			10,000 cars				 Rs.30,000Lacs
Sales of insurance		6,000 policies				 Rs.1,500lacs
Sales of finance		8,000 loans 				Rs.19,200Lacs
The revenue earnings from each line of business before expenses are as follows:
Sales of cars		3% of sales value
Sales of insurance	20% of sales value
Sales of finance	2% of sales value
The expenses of the company are as follows:
Sales man salaries 				Rs.200 lacs
Rent 						Rs.100 lacs
Electricity 					Rs.100 lacs
Advertising 					Rs.200 lacs
Documentation cost per insurance policy Rs.100
Documentation cost for each loan Rs.200
Direct sales expenses per car Rs.5000
Indirect cost have to be allocated in the ration of physical units sold.
Required:
i. Make a cost sheet for each product allocating the direct and indirect costs and showing the product wise profit and total profit.
ii. Calculate the percentage of profit to revenue earned from each line of business.
Question No. 14 The following figures are extracted from the trail balance of Gogetter Co. on 30thsept , 2014:
Inventories:
Finished stock				80,000
Materials				140,000
Work in progress			200,000
Office appliances			17,400
Plant and machinery			460,500
Buildings				200,000
Sales							768,000
Sales return and rebates		14,000
Material purchased 			320,000
Freight incurred on materials 		16,000
Purchase return					4,800
Direct Labour				160,000
Indirect labour				18,000
Factory supervision 			10,000
Repairs and upkeep Factory 		14,000
Heat, light and power 			65,000
Rates and taxes 			6,300
Miscellaneous factory expenses 	18,700
Sales commission 			33,600
Sales traveling 				11,000
Sales promotion 			22,500
Distribution Deptt- salaries and expenses 18,000
Office salaries and expenses 		8,600
Interest on borrowed funds 		2,000
Further details are available as follows:
i. Closing inventories:
Finished goods 			115,000
Raw material  			180,000
Work in progress 			192,000
ii. Accrued expenses on 
Direct labour			8,000
Indirect labour			1,200
Interest on borrowed fund 	2,000
iii. Depreciation to be provided on:
Office appliances 			5%
Plant and Machinery 		10%
Building 				4%
Distribution of the following costs:
Heat, light and power to factory, office and distribution in the ratio 8:1:1.
Rates and Taxes two thirds to factory, one third to office
Depreciation on buildings to factory, office and selling in the ratio 8:1:1
With the help of the above information, you are required to prepare a condensed profit and loss statement of Gogetter Co. for the year ended 30thsept 2014 along with supporting schedule of:
1. Cost of sales
2. Selling and distribution expenses
3. Administration expenses
Question No.15 Pop eye is a metal and wood cutting manufacture, selling products to the home construction market. Consider the following data for the month of October, 2004.
Sand paper 						5,000
Material handling costs 				175,000
Lubricants and coolants 				12,500
Miscellaneous indirect manufacturing labour		100,000
Direct manufacturing labour				750,000
Direct Material Oct.1 2004 				100,000
Direct Material Oct 31, 2004 				125,000
Finished Goods Oct 1, 2004 				250,000
Finished Goods Oct 31, 2004 				375,000
Work in progress Oct 1 2004 				25,000
Work in progress Oct 31 2004 				35,000
Plant leasing costs 					135,000
Depreciation- plant equipment 			90,000
Property taxes on plant equipment 			10,000
Fire insurance on plant equipment 			7,500
Direct Material purchased 				1,150,000
Sales Revenue 						3,400,000
Marketing promotions 				150,000
Marketing salaries 					250,000
Distribution costs 					175,000
Customer service costs 				250,000
Required:
1. Prepare an income statement with a separate supporting schedule of costs of goods manufactured.
2. For all manufacturing items, indicate by V or F whether each is basically a variable cost or a fixed cost (where the cost object is a product unit).  
IMPORTANT SHORT NOTES
Essentials of a good Cost Accounting System: The essential features, which a good Cost Accounting System should possess, are as follows: 
(a) Informative and Simple: Cost Accounting System should be tailor-made, practical, simple and capable of meeting the requirements of a business concern. 
(b) Accuracy: The data to be used by the Cost Accounting System should be accurate; otherwise it may distort the output of the system.
 (c) Support from Management: Necessary cooperation and participation of executives from various departments of the concern is essential for developing a good system of Cost Accounting. 
(d) Cost- Benefit: The Cost of installing and operating the system should justify the results. 
Precise Information: The system of costing should not sacrifice the utility by introducing meticulous and unnecessary details.
 (f) Procedure: A carefully phased programme should be prepared by using network analysis for the introduction of the system. 
(g) Trust: Management should have faith in the Costing System and should also provide a helping hand for its development and success.
Cost Control and Cost Reduction: Cost control is operated through setting standards or targets and comparing actual performance therewith, with a view to identify deviation from standards or norms and taking corrective action in order to ensure that future performance conforms to standards or norms. 
Techniques- Standard cost and budgeting, Inventory control, Ratio analysis, Variance analysis
Cost reduction is a continuous process of critical cost examination, analysis and discharge of standards. Each subject of business viz products, process, procedures, methods, origin, personnel etc is critically examined and reviewed with a view of improving the efficiency & effectiveness and reducing the costs. Even in an organization where efficient cost control is in operation, there is always room for cost reduction.
Techniques-Value Analysis, Economic Batch Quantity, EOQ, Just in time and TQM 
Engineered costs are costs that result specifically from a clear cause and effect relationship between inputs and outputs. The relationship is usually personally observable. Examples of inputs are direct material cost, direct labour cost. Examples of output are car, computer etc. 
Differential costs represent the change in total cost due to change in activity level, technology, process or method of production, etc. Example, if total cost under alternative I is ` 30,000 and alternative II is ` 50,000, then differential cost is Rs.20,000 (Rs. 50,000- Rs. 30,000)
Cost units: It is a unit of product, service or time (or combination of these) in relation to which costs may be ascertained or express. A batch which consists of a group of identical items and maintain its identity through one or more stages of production may also be considered as a cost unit. Cost units are usually the units of physical measurement like number, weight, area, volume, length, time and value.
Cost Centre: It is the smallest area of responsibility or segment of activity for which costs are accumulated. It can be defined as a location; person or an item of equipment or a group of these for which costs are ascertained and used for the purpose of cost control. Cost centres are of two types viz.., personal and impersonal. 
Personal cost centre: It is a cost centre which consists of a person or a group of persons. 
Impersonal cost centre: It is a cost centre which consists of a location or an item of equipment or a group of these.
 In a manufacturing concern there are two types of cost centres viz., production and service cost centres.
A profit centre is a centre where the manager has the responsibility of generating and maximising profits. In such centres, the manager is responsible for revenue and cost. 
Investment centres are those centres which are concerned with earning an adequate ROI. In such centres, the manager is responsible for investment, revenue and cost. 
Shutdown Cost: Those cost which continue to incur even when a plant is temporarily shut down. E.g. Rent, rate and depreciation. Those cost cannot be eliminated which the closure of the pant. In other words, all the fixed costs , which cannot be avoided during the temporary closure of plant, will be known as shut down cost.

Rack your Brain
State the types of cost in the following cases: 
(i) Interest paid on own capital not involving any cash outflow.
(ii) Withdrawing money from bank deposit for the purpose of purchasing new machine for expansion purpose.
(iii) Rent paid for the factory building which is temporarily closed
(iv) Cost associated with the acquisition and conversion of material into finished product.
Ans: Imputed cost, opportunity cost, shutdown cost, product cost
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